Overview of the course

© ‘Propcsi&omat logic lecture 1

e Proot techniques lectures 2-4

¢ Sek Ekeorj %oc&a\:j and next lecture
e Relations lectures 7-%

e Functions lecktures ¥-9

o Combinatorics lectures 10-11

Boolk: Chay&ev R, seckions 2.1, 2.2, 2.3



Seks

® A sel: collection of specified objects
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¢ Seks are nob ordered { 2,3 ,‘;7 - {2“.,3.)

© Seks have ho duplicate elements { ){ |, 2 (7 = { )2 s

e Sekts can be finite or infinite

e Can be empty { & | (}‘)

® Cardimaii&v of a set = Aumblce oq elemantS
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Describing sets
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Subseks

The set B is a subset of the set A <=> every element of B is also an

element of A
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Sek equai.&&v
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Union, intersection, ditference of seks
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Complement of a sek J
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Proofs with seks: example
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AcB )= (B°¢c AC)
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Assacia&vi&v
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Diskribubtive Laws
AU(BNC) = (AUB)N(AUC
AN(BUC) = (ANBYU(ANC
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De Morgan Laws

AUB) = A°N B°
ANB) = AU B°

You can use the associative, distributive and De Morgan laws without a

proof (but proving them is still a good exercise).



Checlelist
¢ Do you understand how set memberskip works?
© Do you uhderstand the definition of a subset,

and how to prove that set A is a subset of B?

¢ Do you understand the meaning of intersection,
union, complement, difference of seks?

¢ Do you kiow how to use Venn diagrams to help
d&vei.op an inbuitbion?

¢ Do you khow how to prove that two sebs are
equat?



